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[ KM 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)
Paper V- MATHEMATICS AND BIOSTATISTICS
Time : Three hours

Sec, A& B:Twohoursand Sec. A & B : 60 marks
forty five minutes

Maximum ; 75 marks

M.C.Q. : Fifteen minutes M.C.Q. : 15 marks
SECTION A — (2 x 15 = 30 marks)

Answer any TWO questions.
1. (a) Discuss briefly various methods of collecting
primary data and compare them on any two aspects.

(b) What are ogives? How are they drawn? How
are they used for estimating the quartiles? B8+7)

2. (a) Find mean, variance and coefficient of
variation for the following data. (in suitable units)

Daily protein

intake 5-20 20-35 35-50 50-65 65-80 80-95
Number of

Persons 18 24 132 74 23 9

(b) The mean and standard deviation of BP of 16
patients were 82 and 18 respectively. It was later on
found that a reading 80 was recorded as 18. Find the

correct mean and standard deviation. 8+17

3. (@
method of drawing the same from a finite population.

Explain simple random sampling. Describe a

(b) List the various properties and uses of

normal distribution, (6+9)

4. (a) Distinguish between correlation and

regression. Why are there two regression lines? What
are their uses?

(b) From the following data on fat in take (X)
and blood cholesterol level ((Y) [in appropriately

transformed units], estimate the expected fat intake for
a cholesterol level of 40 and the expected cholesterol
level for a fat intake of 18.

N = number of persons sampled = 10

X =130, Y =550 XX2=1778
TY? =34490 IXY =17515.

(6 +9)
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SECTION B — (6 x 5 = 30 marks)
Answer any SIX questions.
5.  Resolve into partial fractions :

5x% +5x +5
(x-3)Bx%~x +1)

6. Using S=11,2,3,4,5,6,7,8,9)
A=1{2,4,6,8} and B=1(3,6,9)}.

Verify D’'Morgan’s laws.

2005

11,

12,

13.

7. Define singlar, symmetric and identity (unit)
matrices. Define also the inverse of the matrix. Find the

a

b] with ad -be#0,
c d

inverse of [

8.  Sum to infinity the series :

1 1 1 1
+ h p—
123345 567789

(cos28 +isin28)*
(cos@ —-ising)?

9.  Simplify

10. Find the expansion of sin’ @ in sines of multiples

of 8.
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Evaluate I
1/1 —x?

e |
xsin™ x
dx .

Solve (x + y)dy = (x —y)dx .

Solve

dy

+ycosx = %sinZ:c i
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[KN 7051] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.

(Revised Regulations)
Paper V— MATHEMATICS AND BIOSTATISTICS
Time : Three hours

Theory : Two hours and
forty five minutes

M.C.Q. : Fifteen minutes

Maximum : 75 marks

Theory : 60 marks

M.C.Q. : 15 marks

I.  Answer ALL questions : (2x 15 = 30)

1. Answer (a) or (b)
(a) (@)

Find the inverse of the matrix

i 1 1
A= 4 T
11 -1 1

(ii) Sum to infinity :
21 251 258 1
l+— o — e
32 3622 369 2°

-6
(iii) Prove that :
1+§-+£+1+---=3e.
1 2t 3

Or

(b) (1) Find the cube root of (l + :JE)

4i) Solve: % . s 4 5%

dy y _ 3

Solve : =—+4+Z==7*,
(ii1)) Solve aSr+.r x
2. Answer(a)or(b):

(a) @)
following data :

Class: 0-7 7-14 14-21 21-28 28-35 35-42 42-49
/oo 19 25 36 72 51 43 28

Find the median and mode for the

(ii) Find the standard deviation for the
following data :

Class: 0-10 10-20 20-30 30-40 40-50 50-60
V- 18 16 15 12 10 05

(111) Find the mean deviation from the mean
for the following observations :

20 22 27 30 31 32 35 40 45

Or

2 [KN 705]



AUGUST - 2005

(b) (1) Find the Quartile Deviation for the
following frequency distribution :

Marks 20-30 3040 40-50 50-60 60-70 70-80
obtained :
Number of

10 8 5
students : S 20 14

(11) The nicotine contents in milligrams of
two samples of tobacco were found to be as follows :

Sample-A: 26 21 25 24 27
Sample-B: 28 31 22 27 30 36

Find the mean, standard deviation and
coefficient of variation for Sample -~ A and Sample — B.

II. Answer any SIX questions : (6 x5=230)

1. A hushand and wife appear in an interview for two
vacancies in the same post. The probability of husband’s
selection is % and that of wife's selection is % What is
the probability that

(a) both of them will be selected and

(b) only one of them will be selected?

3r+1
2 r+1xr-1)

2.  Resolve into partial fractions :

3 [KN 705]

o . =l
sin —+ £ cos—
Prove that 8 8 =1_.

. X, =
sin—-Z/cos—
8 8

L

4. Find the Laplace Transform of sin(47).

5.  Draw a histogram for the following data on graph
paper : -
Class : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

/£ 5 10 15 21 11 10 4

6. ' Find the coefficient of correlation between the
industrial production (z) and export () using the
following data :

x: 55 56 58 59 60 60 62
»: 35 38 38 39 44 43 44
dy x-2y+.1'

7.  Solve: = :
T 24y 43

8.  Obtain the regression equation of y on x from the
following data :

r: 6 2 10 4 8
y: 9115 8 7
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[KO 705) Sub, Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)
Paper V — MATHEMATICS AND BIOSTATISTICS
Time : Three hours Maximum : 756 marks

Theory : Two hours and Theory : 60 marks
forty five minutes
M.C.Q. : Fifteen minutes M.C.Q. : 15 marks
I. Long Essay: (2 x 16 = 30)
Answer any TWO quastions,

1. (a) Describe any two methods of collecting
primary data.

(b) Draw histogram and frequency curve from
Class interval : 3040 4050 50-60 60-70 TO-80 S0-50
Frequency : 18 w 45 n 15 8

(71+8)

2. Calculate median and cpefficient of variation for
the following data on protein intake per day.

Protein intake per day : 5-19 20-34 3549 50-64 6579
No. of families : 6 20 45 AU 5

correlation coefficient and write down the regression
equations for the following data.
Ty*=1080, Loy = 504.

4. (a) Write notes on systematic random sampling
and probability.

(b) Test for the significant difference between
the mean anxisty scores of two groups of patients for the

Group
A B
Number 100 200
Mean anxiety scores 66 61
8.D. scores 10 10
6% 2z value is 1.96. (T+8)
II. Short notes : (6 x 6 = 30)
Answer any SIX questions.

2r-1
1. Resolve into partial fractions —8M—,
- T+ (z-3)

3. Bumtoinfnityl+24+2:5  25-8

8 612 8.12.18 "
2 [EO 705]
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8 b 2 -1 2 &
5 1 “'[1 9 ﬂ]' 5-[1 0 3] =
c:"-[: : "‘_]Mu-w+w.
4 If Ad=fodede}, B=loceyl and
f-[t!‘.-h)'uf} verify that
(AVE)ALC = (A ACYNENL).

5. thm“dwmmur-?%+

6. Expand cosdé in powers of sind.
7.  Differentiate 3+ logx with respect to x

i
8  Evaluate ][;“-a:*"+L]dr.
1

:I'

. )
8.  Solve I%f:h‘:=£‘: 2logx .

3 (KO 705]
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[KP 705] Sub. Code : 4165

FIRST B.Pharm DEGREE EXAMINATION.
(Revised Regulations)
Paper V — MATHEMATICS AND BIOSTATISTICS

Time : Three hours Maximum : 75 marks

Theery : Two hours and Theory : 60 marks
forty five minutes

M.C.Q. : Fifteen minutes M.C.Q.: 156 marka

.  Answer any TWO questions : (2 x 20 = 40)

1. (a) Define mean, mode and median for a
frequency distribution.

(b) Find the mode and median for the following
data :

Class 48 8-12 12-16 16-20 20-24 24-28

f 6 10 18 30 15 12

2. (a) Find the mean deviation from the mean from
the following obsarvations :

20 22 27 30 3132 35 40 45.
the following data :

Age in 20-30 3040 40-50 50-60 60-T0 7080 B0-90
years :

Numberof 3 61 132 153 140 51 2
men

::.“ {a} Find the Quartile Deviation for the following

Marks: 0-6 5-10 10-15 15-20 20-25 25-30

Numberof 4 6 8 12 7 2
students :

{(b) Below iz given the frequency distribution of
weights of a group of 60 students of a class :

inRE

Number 03 05 12 18 14 06 o2

of
students :

Draw a histogram for ths above data and
hence find the modal value,

2 [KP 705]
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4. (a) PFind the coefficient of correlation betwoen
the industrial production (X) and export (Y) using the
following data :

X: 65 66 5658 bH9 ©0 60 62

¥ as as 38 39 44 43 44

(b} A husband and wife appear in an interview
for two vacancies in the same post. The probability of
husband's selection is 1/7T and that of wife's selection
is 1/5. What is the probability that

(i) both of them will be selected
(i) only one of them will be selected and

(iii) none of them will be selected?

II.  Short notes : (4 » 5 = 20)
Answer any FOUR questions.

1.  Resolve into partial fractions :

(x+102=-1)*

1 2 -1
2. IfA=[-1 1 2| 6adA™.
2 -1 1

3 [KP 708)

3, lm-[“'." 'i"ﬂ),ﬁnd AA’ and A'A.
-gind cosf
4.  Simplify :
_tmiﬁinﬂ'(u!-i:hﬂ"
(cosdd +isiné8)* (cos38 +isin38)"

5. Find the cube roots of (1+i) and represent them
in the Argand diagram.
6. Sum to infinity :

1 1.3 1.3:6

1-8%*%18 F1e2a "

7. Evaluate: jaﬂ sinxdx .
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[KQ 705] Sub. Code : 4165

(Revised Regulations)
Paper V — MATHEMATICS AND BIO-STATISTICS

Time : Three hours Maximum : 76 marks
Theory : Two hours and Theory : 60 marks
forty five minutes
M.C.Q. : Fifteen minutes M.C.Q. : 16 marks
Answer any TWO questions.
I. Long Essay: (2 x 20 = 40)

1. (a) Describe any one methed of collecting
primary data.

{(b) Writs down the parts of a table.

() Write notes on simple random sampling.

(dl Write down the various steps to be followed
in tast of hypothesis.

2. (a) Draw histogram and frequency polygon for
the following data :
Marks : 0-20 20-40 40-60 60-80 B0-100

No.of students: B 20 36 16 7
(b} Calculate mode and coefficient of variation

from the following :
per day : 65-19 20-34 36-49 b60-64 65-T9
Number of
families : 6 20 45 24 )

3. Define correlation and regression with example.
Caleulate the coefficient of correlation and form the
regression lines for the following data :

X: 12 3 4 5 6 7

¥: 9 8 10 12 11 138 14

4. (a) Defins probability and sample space.

(b) A bag contains 7 white and 9 black balls.
Two balls are drawn at random. What is the probability
that both are of game colour?

(e} A new drug was given to 150 cases and it
curved 85% of them. Can we consider that it is better
than the wsual drug which curves T6%? Given 5%
Z valua is 1.96 and 6% Z value is 2.58.
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Answer any FOUR questions.
. Short notes : (4 = 5 =20)

=+l
x(x + 2 (x +3)

1 2

1 26
EJ}MB—[iiﬂ]pmwthnt
(AB) =B'A".

. . 2x .
3. Differentiate 7 with respect to x.

4. l‘.nmgﬂmdﬁ-l-h: with reapect to x.

. Eolﬂﬂn—Lx-l-n _3.
dex 2x+y-8

Simplif (cos28 + isin28)" (cos38 - isin38)*
B (con@ - ieindP (condd + isind 9P

7. OQGiven that A=0(0,1,35), B=(L247 at
C =(1, 2, 3,5, 8). Prove that

(0) AUB)C=(AnC)u(BnrC)

b (AnB)uC=[AuC)n(BuC).
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